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Note: Answers may be written either in English or Hindi but the same medium should be followed
throughout the paper.

Yfl sc?Frr tFI BtlI si*fr qI G* ftffi \'fi ,ilqr { AfuC dfur HS sf,qt rrr qTEFr

fo 6 r)-{r qIEqt

Attempt Anv Four queslions.
AII questions carry equal marks
a-a "iot-#.h-ffi]gtt cqY * oio sqrc d r

l. whal are the similarities and diffeiences between the Liberal and Gandhian nature of
the Stale in India?

enra * qrfl 4t r{R-dr4r 3it{ iTidlqr& rtfr tr sfi rndn' sit{ 3i?r ilr t?
2. Criticelly evaluate the signifrcance ofparliament in the Indian political System.

err*q{t:rfr Rsq6pn*d-{r4tFF€6r€erf{arrzr*'aeiaaf tBvl

3. Discuss the philosophy of the Indian Constitution with reference to its preamble.

t'frtna *t swr*a *, daa+ d' er&{ :ifrqra *- fitq 4f F*itrar Stfr('r

1'



4. Define judicial activism? Elucidate the expanding role of the Supreme Court of lndia
io &e executive domain. wilh appro.priate examples.

E&q" TrB-qA a<r p arffi+i *. st{ C' r{rrd * e-df zq ;qrqiirq fr *ddr tr*
{ft-*r +t sfud ffiErur sBa lvq 6rB(rr

5. What is Commriridism? What are the major &ctors leading to Communalism?

strrqlft*-Sr€ThsrrsElfta-dT ai v6rer t-* qrd c-{u: 6R6 dt-d t t,
6. What are the strengths and weaknesses ofthe multi-party system in lndio? Comment.

s{rd fr' aEEdtS sun& 6r ar6.d 3ik 6.a;frf5qt,@r *z ftqsfi 6rB.s.r

7. 'From the .pe$pgctiw of developmenr, India after l99l lraasformed fiom an
interventionisrt state to a rcgulatory state.' what were the underlying reasons for this
transformation?

Bsrs * sMsr *, r g9 r *' Err rfl :d (rs. rrstlcElfi. trfi r * rr*' kqrq.s {iw
fr a-c;* rr+rr qs cffG-d-fr * 3iafftrd ar<or wr Qr

8. Write short [otes on /ny IEC of the following:
ffituiT tt + ffi slqr rifuq fref lotul i

Peasant's movement

fu-srasddrffi
W.oikitrs movomeirt

rii-{rm.r 3rrql.6rfl

Regiorial parties

ct*qw'
Clobalisation

&*firr


